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1. Answer the following questions : 1x10=10
ST PR Teq fia

(@) What is cardinal utility?
IRITAGS SocIfare &6 2

(b) What is the marginal rate of substitution
between two perfectly substitute goods?
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What is cardinal utility?
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What is the marginal rate of substitution
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(2)

Define income effect.
g e e e |

What is meant by a person be ‘isk
averse’?

e wETT R SRS e 6 g A e

Why is the average fixed cost curve
rectangular hyperbola?

5TS %4 I @HISE THoN A9ge 1 = 0

When is the long-run average cost curve
L-shaped?

TN 9IS <8 @O (FOA L-pfoT = 2

What is production function?

Beeime IR 2

Define expansion path.

FePTRe 2o ke |

State the concept of shutdown point of a
firm.

<61 AMPFT ST T3 RwE 4o Seay 54 |

Define opportunity cost.

g1 S R |
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2. Write short answers of the following

questions :
O 2PICAE Y Ted e

2x5=10

(a) What is meant by slope of a budget line?

D (IY1 O Bl e 5t A 2

(b) Distinguish between gross demand and

net demand.

o IR SIF 6T BIRAE e 1 fefy 947 |

(¢) What are short-run and long-run costs of

production?

ZFPIAN S TEFIA SRAT 7 T 1 2

(d) Establish the relationship between total

utility and marginal utility.

P Socfre W 2t Tocnhen Tewe ek

Fow 41 |

fe) State the concept of optimum firm.

I AfSHT w=encr Seay 79 |

o9 EPICIRS ReTe wiRoE Sey fy

3. Answer any four of the following questions :

5x4=20

(@) What is inferior good? How is it different
from normal goods? Show it with the help

of indifference curves.

g8 A o Fefe TAee 3 GEwE
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(b)
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(@)
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(4)

Discuss how Slutsky equation explains
the relationship between change in price
of a good and demand for it.

R AN FETR /9 “IRas o DI
TETS F=oF [T IR, S 641 |

Suppose the purchase of a lottery ticket
is under consideration of an individual.
Let the prize be ¥ 5,000 which he will get
if he wins and suppose if he losses, he
will get the consolation prize of ¥ 10.
Further suppose that the probability of
his winning is 0-6. Find expected money

value of lottery ticket.

49 25 G& IS «O1 °5R BF6 ey qca
o s 3 IfeaE ww=e 3@ oz
5,000 51 [REN W AR M T, corm
1051 fIpefd 251 =1 | = @1 7' @ S
FIE AT 2 0-6. 7’5 BIGGR eoyfis
@1 T4 Sfere |

Define substitute and complementary
factors. Draw isoquants of perfect

substitutes and perfect complements in
production. Give examples.

s jﬁ:%ﬂ%ﬂiz AR @ 7 | o R
Ny R s e
Trrzae | o T

( Continued )

(e)

1

4. Answer the following questions :

( 5)

“If there is free entry of new firms in the
competitive industry, price must fall to
the level of minimum long-run average
cost.” Explain.

“ofefiereRe IaRe At Mg AfSPER e
w0, cofen @ fPoy WEEEm o W @RN
fAsrew et 2P1 =1 177 1R 4 |

Give the various concepts of production
costs in brief.

o AR fAfen GRPTIR B o

Y 2PCARE Ted

(@)

(b)
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“Revealed preference theory makes a
major advancement in the theory of
demand.” Discuss.

“orpy SEfAPE OGO siftm RREGR e
Tafe sy FEeE 17 el 4 |

Or / 9341

Explain how indifference curve can be
derived using revealed preference theory.
o FRTR O SRS (AP PR @1
ofq <, 0 A

How are average cost curve and marginal
cost curve derived from total cost curve?

10x4=40

10

5+5=10
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What is meant by optimum factor
combination in production? Explain with
the help of isoquant and isocost lines.

2+8=10

T oA (6 e [ q@ Iw e SeeH
@4 S TGN @I TS I |

Explain the impact of change in rate of
interest on the consumers. Use
diagrams. 10

TrCSTER @RS R AW ARTER gor I
<41 | fom ez < |

Or / J3d1

Fill in the blanks in the following table :

3+3+3+1=10
T SRR <1 AIRCAR AT 1 ¢
Number of Total Marginal Average—|
variable inputs output product product
RSN 75 Geor | 2feF Sen | oS T
wf2Erd R
BiA 3 = 18 30
4 — 20 =t
5 130 5 __
ETE o = 5 -
7 = — 1
195
22A/39 ( Continued )

(@)

22A—4000/39

(57°)

Does the production function stated in
the table exhibit diminishing returns? If
so, at what number of units of the
variable input do diminishing marginal
returns begin?

eoqs TrEd 9 OICRIRS GRRPE  SRATH
ool 200 7 3 2, (O CFID! “IREST
fEeTd (OB R TP 2fes TR =S
tZr?

Critically discuss the law of variable
proportion. 10
afgeae  Sepre  REGT TSI
HCEAm T4

Or / 9341

What are isoquants?  Show the
increasing, constant and decreasing
return to scale through isoguants.

1+3+3+3=10
seee @4 2 SR RN RELI)
R, AT ST ZPH T HCIERSE
sfffeme Y&l |
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